IMTERMATIOMNAL INDIAN SCHOOL, RIVADH

CLASS X TOPRIC: POLYNOMIALS

SUBIECT: MATHEMATICS

1. Show that x* = 3 is a factor of 2x" + 3¢ -2 -9x - 12

2. Divide: 4" +2%" + 5x -6 by 2" + 3u +1 [2x-2, 3x-4)

3. Divide {6 + 18 x + x* — 6x°) by (2 +5x — 3x°) and verify the division algorithm

4. Find other zeroes of the polynomial px) = 2x* + 7% = 19x" = 14x + 30 if two of its zeroes are V2 and V2 (3/2,-5)

5. Find all the zeroes of the polynomial 3" + B - 2x" — 10x — 5, if two of its zeroes are V5/3 and - v5/3 (-1,-1)

6. Find all the zeroas of 2x* —3x” — 3" + 6x ~ 2, if it is known that two of its zeroes are V2 and -2 (1,14)

7. Find all the zeroes of 2x* - 9% + 5 + 3x — 1, if two of its zeroes are 2 +v3 and 2 - v3 {1,-1/2)

2. Find all the zeroes of palynomial 4x° — 20:C + 235" + 5x -6 If two of its zeroes are 2and 3 (12, -1/2)

9. When a polynomial f{x) is divided by ¥ -5 the qun‘tig:"ﬁ is x" — 2x — 3 and remainder is zera. Find the polynomial and all its zeroes

(3, -1,v5, -V5)

10, If the palynomial f(x) = - 6% +16%° - 25x% + 10, is divided by another polynomial x* - 2% + k the remainder Comes autto be x + 3,

Find k and a (k=5,a=-5}

11. If the polynomial 6x" + 8% = 5x* + ax + b is exactly divisible by the polynomial 2x* - 5, then find the values of a and b

[-20,-25)
12. Find the values of m and n so that x* + mx’ + nx’ — 3x + n is divisible by x" — 1
13. On dividing =3 +x+2 by a polynemial g(x], the quotient and remainder were x— 2 and -2x% 44, respectively. Find g(x)

(%" = # 1)

14, What must be subtracted from 2x" — 11x° + 29 x° — 40x + 23, so that the resulting polynomial is exactly divisible By W-3x+d

) {-2x +5)
15. Find the polynomial, whose zerces are 2 +V3 and 2 - V3 i {xl—qx +]
16.Form a guadratic polynomial, ane of whose zero is 2 4+ W5 and the sum of zerces is 4 (X - ax-1)
17. If @ and B are zeroes of the polynomial %~ 2% — 15, then form a quadratic polynomial whose zeroes are 2a and 2
18.Write a quadratic polynomial, the sum and product of whose zeroes are 3 and -2 (¥ -3x-2)
19. Find the zeroes of the polynomial and verify the relationship between the zeroes and the coefficient

a} 4’ =dx 1 b) % =3 £) -7 d)v3x" - 8x + 4v3
20. If w and P are the zeroes of the pelynomial 2y* + 7y + 5, write the value of e+ P + a B {-1)
21. If one root ofthe polynomial 5% + 13x + k is reciprocal of the other, then find the value of k?
22. If one zero of the polynomial (a® + 3) »® + 13x + Ba is reciprocal of the other. Find the value of a (3)
23. If the zeroes of the polynomial x’ —3x° + x+1 area—b,a,a +b, find s and b [1, v2)
24, 1f a and B are the zeroes of the polynomial f{x) =.6?(1+ x-2, find thevalueof 1 + 1 - af (5/6)
L] I ’ a B
25.)f o and B are the zeroes of the quadratic polynomial 2x*+3x-5,findthevalueof 1 + 1 (3/5)
« P

26, If wand § are the zeroes of the polynomial f[x) = x'— 8x+ksuchthat o + f7 =40, find k (12}
27. If o, B are the zeroes of a pol‘.'rnornia!, such that et + f =6 and & p = 4, then writes the polynomial
28. If the product of zeroes of the polynomial ax® - 6x — 6 is 4, find the value of a (-3/2)
29.1f o, B are the zeroes of quadratic polynomial 2x° + 5x + k, find the value of k such that (a+ PP’ - B =24 (- 71/2)
30, If o and B are zeroes of x* + 5x + 5, find the value of a™ + g™ (-1}
31. o, B are the zeroes of the quadratic polynemial x* — {k+6)x 2 (2k — 1). Find the value of kif e+ B =% a B 17)
32. if o, P are the zeroes of the quadratic polynomial x* = 7x + 10, find the value of o + |33 [133)
33. m, n are zeroes of ax’—12x +c Find thevalueofaandc ifm+n=mn=3 (12)
34. If wand B are the zeroes of x* = 8x + k, such that a® + 3% = 40, find k {12}
365, Find the sum and the product of the zeroes of cubic polynomial 2% -5 — 14K+ 8 (5/2,-7,-4)
36. Find the sum and product of the zeroes of quadratic polynamial x* = 3
3. If 1 is a zero of polynomial ax® —3{a-1) -1, then find the value of a (1)
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